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The death occurred last month of strong English

  Master John Littlewood at the age of 78.  His 

most famous game, which he lost, was against 

the legendary Mikhail Botviinnik at the Hastings 

Congress 1961-62 in which the world champion 
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had to play most accurately to beat off Littewood’s 

attack.  I was one of a largish crowd witnessing the 

game expecting a brilliant White win.  Here is the 

   position after 18.h5.  Can you see how Black 

 defends  against White’s mating threats (5 moves)?
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John Littlewood had only recently competed in the British Championship, fifty years after his first appearance. He had the most remarkable tactical vision and was one of the strongest players in the UK in the 1950s and 1960s. However family and work commitments prevented him fulfilling his true potential.  John played for England in two Chess Olympiads. His score at Varna in 1962 was six wins, seven defeats and no draws, evidence of his uncompromising approach to the game.


           D Sherman - J Littlewood


  1973 Lloyds Bank Open London, Rd 1


                   Philidors Defence 

1.e4 

e5 

2.Nf3 

d6 


3.d4 

exd4 

4.Nxd4 
g6 


5.Nc3 
Bg7 

6.Bc4 
Nc6 


7.Nxc6 
bxc6 

8.0-0 

Rb8 


9.f4 

Qh4 

10.Qd3 
Nh6 


11.h3 

0-0 

12.b3?(a) 
d5! 


13.exd5
cxd5 

14.Bxd5 
Bf5 


15.Qf3 
c6! 

16.Bxc6 
Bg4! 


17.hxg4(b) Bd4+ 

18.Be3 
Nxg4 


19.Qxg4 
Bxe3+  and wins.

a) A fatal weakening on the long diagonal depriving the knight of needed protection – 12.Bb3 would enable White to develop the c1 bishop.  

b) If 17.Qd3 Rfc8 wins a piece. 



   J Littlewood - N Povah


     1975 British Championship


Modern Benoni: Mikenas Variation

1.d4 

Nf6 

2.c4 

c5 


3.d5 

e6 

4.Nc3
 
exd5 


5.cxd5 
d6 

6.e4 

g6 


7.f4 

Bg7 

8.e5 

Nfd7 


9.Ne4 
dxe5 

10.Nd6+ 
Ke7 


11.Nxc8+ 
Qxc8 

12.Nf3 
Re8 


13.fxe5 
Nxe5 

14.Bb5 
Nbd7 


15.0-0 
a6 

16.Nxe5 
Bxe5 


17.d6+! 
Kf8(a) 
18.Qd5 
Bd4+ 


19.Kh1 
Nf6 

20.Bh6+ 
Kg8 


21.Rxf6! 
Bxf6 

22.d7 and wins 

a) If 17...Bxd6 18.Bg5+ f6 19.Bxd7 Kxd7 20.Rxf6 with an overwhelming attack. 

SOLUTION: 18…dxe 19.hxg Nf6 and Black can meet 20.Nf5 threatening 21.Qg7# with 20…c2+! (21.Kxc2 Qc8+ 22.Kb1 Qxf5). White played 20.bxc and resigned after 28 moves.

